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https://www.youtube.com/watch?v=pom8I86sSl4
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Questions

𝐹𝑎𝑐𝑡𝑜𝑟𝑖𝑠𝑒 6𝑥2 − 9𝑥 − 6

𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦 𝑓𝑢𝑙𝑙𝑦
5 2 − 15

5 8 + 5

https://www.youtube.com/watch?v=O0N-QjS60hA
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6 𝐶𝑜𝑛𝑣𝑒𝑟𝑡 30,000𝑐𝑚2 𝑖𝑛𝑡𝑜 𝑚2

Questions

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓
27
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https://www.youtube.com/watch?v=TRBE3FNkHvM
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Questions

𝑊𝑟𝑖𝑡𝑒 𝑥2 + 6𝑥 + 10 𝑖𝑛 𝑡ℎ𝑒 𝑓𝑜𝑟𝑚 (𝑥 + 𝑎)2+𝑏

https://www.youtube.com/watch?v=xO0kGHWula4


8

9 𝑓 𝑥 = 2𝑥 − 1

Questions

𝐸𝑥𝑝𝑙𝑎𝑖𝑛 𝑤ℎ𝑦 sin−1
5

4
= 𝑴𝒂𝒕𝒉𝒔 𝒆𝒓𝒓𝒐𝒓

𝑔 𝑥 = 𝑥2 − 3𝑥 + 5

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒𝑠 𝑜𝑓 𝑥 𝑤ℎ𝑒𝑟𝑒 𝑓 𝑥 = 𝑔 𝑥

https://www.youtube.com/watch?v=P04fcUI5-Zk


10

Questions

𝐴 𝑠𝑡𝑟𝑎𝑖𝑔ℎ𝑡 𝑙𝑖𝑛𝑒 𝐿 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑜𝑢𝑔ℎ 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡 −4,4 𝑎𝑛𝑑 𝑖𝑠
𝑝𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟 𝑡𝑜 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝑦 = 2𝑥 − 2
𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑡𝑟𝑎𝑖𝑔ℎ𝑡 𝑙𝑖𝑛𝑒 𝐿.

https://www.youtube.com/watch?v=63_tVozf_DE


A

Proof

𝑃𝑟𝑜𝑣𝑒 (𝑛 + 1)3− 𝑛 − 1 3 𝑖𝑠 𝑒𝑣𝑒𝑛 𝑤ℎ𝑒𝑛 𝑛 𝑖𝑠 𝑎𝑛 𝑖𝑛𝑡𝑒𝑔𝑒𝑟.

https://www.youtube.com/watch?v=YEFOP0oQLmE


B

Deriving formula

𝐶

𝑎

𝑏

𝑃𝑟𝑜𝑣𝑒 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡ℎ𝑒 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑖𝑠,

1

2
𝑎𝑏 sin 𝐶

https://www.youtube.com/watch?v=LGuZFnoWmWY


c

Problem

𝑇ℎ𝑒 𝑐𝑖𝑟𝑐𝑙𝑒 ℎ𝑎𝑠 𝑎 𝑟𝑎𝑑𝑖𝑢𝑠 𝑜𝑓 1𝑐𝑚.
𝑇𝑤𝑜 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑙𝑖𝑒 𝑜𝑛 𝑡ℎ𝑒 𝑐𝑖𝑟𝑐𝑙𝑒.
𝑂𝑛𝑒 𝑒𝑑𝑔𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑞𝑢𝑎𝑟𝑒 𝑔𝑜𝑒𝑠 𝑡ℎ𝑟𝑜𝑢𝑔ℎ 𝑡ℎ𝑒 𝑐𝑒𝑛𝑡𝑟𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑐𝑖𝑟𝑐𝑙𝑒.
𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑞𝑢𝑎𝑟𝑒?

https://www.youtube.com/watch?v=alfC7WYv6Gs

